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<?xml version="1.0" encoding="UTF-8" standalone="yes"?>
<xs:schema xmlns:xs="http://www.w3.0rg/2001/XMLSchema"
elementFormDefault="qualified" attributeFormDefault="unqualified">
<xs:element name="ConstructionProject">
<xs:annotation>
<xs:documentation>% ¥ 1 H </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence>
<xs:element ref="SystemInfo"/>
<xs:element ref="Constructioninfo"/>
<xs:element ref="MainCostIndex"/>
<xs:element ref="ConstructionSummaryIndex"/>
</xs:sequence>

<xs:attribute name="Number" type="xs:string" use="required">

<xs:annotation>
<xs:documentation>1 H %5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Name" type="xs:string" use="required">
<xS:annotation>
<xs:documentation>Jii H 44 #x </xs:documentation>
</xs:annotation>
</xs:attribute>

<xs:attribute name="ProjectCategory" type="xs:string" use="required">

<xS:annotation>
<xs:documentation>_T. £ Jl| </xs:documentation>
</xs:annotation>
</xs:attribute>

<xs:attribute name="ProjectType" type="xs:integer" use="required">

<xs:annotation>
<xs:documentation>_T.F£ 25 %! </xs:documentation>
</xs:annotation>
</xs:attribute>

<xs:attribute name="FileKind" type="xs:integer" use="required">

<xs:annotation>
<xs:documentation>3 {42 A4 </xs:documentation>
</xs:annotation>
</xs:attribute>

<xs:attribute name="ValuationModel" type="xs:integer" use="required">

<Xs:annotation>
<xs:documentation>114 1% 2 </xs:documentation>



</xs:annotation>
</xs:attribute>
<xs:attribute name="ConstructionType" type="xs:integer" use="required">
<xS:annotation>
<xs:documentation>%# 15 V£ Jifi </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="TaxModel" type="xs:integer" use="required">
<xS:annotation>
<xs:documentation>11 it :i</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="AreaKind" type="xs:integer" use="required">
<xs:annotation>
<xs:documentation>Ht [X 251 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ProjectSite" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>_T. F£}h £ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="SourcesOfFunds" type="xs:string">
<xs:annotation>
<xs:documentation>% 4 i </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="RangeOfCompilation" type="xs:string">
<xS:annotation>
<xs:documentation>% | 715 [ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ContractorInvitationType" type="xs:integer">
<xs:annotation>
<xs:documentation> % £ 7 7 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ContractType" type="xs:integer">
<xs:annotation>
<xs:documentation>+ [F] 25 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="StartTime" type="xs:dateTime">
<xs:annotation>
<xs:documentation>F L i} [A] </xs:documentation>



</xs:annotation>
</xs:attribute>
<xs:attribute name="CompletionTime" type="xs:dateTime">
<xS:annotation>
<xs:documentation>¥£ T} [A] </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Duration" type="xs:string">
<xS:annotation>
<xs:documentation>Jiti T. T.#( H /1 K)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompilationDate" type="xs:dateTime"
use="required">
<xS:annotation>
<xs:documentation>% il i [6] </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Timelndex" type="xs:string">
<xS:annotation>
<xs:documentation>f [f]+5 £ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Regionallndex" type="xs:string">
<xS:annotation>
<xs:documentation>H[X i % </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="DataSources" type="xs:string">
<xs:annotation>
<xs:documentation>#{ 3% 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double" use="required">
<xs:annotation>
<xs:documentation>T.F& &4/ (JT)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Scale" type="xs:double" use="required">
<xs:annotation>
<xs:documentation>% ¥ #i i </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Unit" type="xs:string" use="required">
<xs:annotation>



<xs:documentation> % B FILAR 5457 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomiclndex" type="xs:double"
use="required">
<xs:annotation>
<xs:documentation>¥; R& 5 fakr (Jt) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ProjectQuality" type="xs:string">
<xS:annotation>
<xs:documentation> T2 )i & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="StandardName" type="xs:string" use="required">
<xS:annotation>
<xs:documentation>% 4 52 b 1 44 FR</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="StandardNumber" type="xs:string" use="required">
<xS:annotation>
<xs:documentation>% 45 52 b 1 2 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="BillDataBase" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>ji5 B £ | E </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="NormDataBase" type="xs:string" use="required">
<xs:annotation>
<xs:documentation> 7€ K | JZE </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ResInfoPricingFile" type="xs:string" use="required">
<xs:annotation>
<xs:documentation> \ T-#4 ¥} 1% 24/t #% S £ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="AppliedRateFile" type="xs:string">
<xs:annotation>
<xs:documentation># 4T % % 3 4</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="0OtherRelatedFile" type="xs:string">



<xs:annotation>
<xs:documentation>FHAth 14 & #& S £ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Explains" type="xs:string">
<xs:annotation>
<xs:documentation> & 1} B </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="Systeminfo">
<xS:annotation>
<xs:documentation> £ 415 & .</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:attribute name="ID1" type="xs:string">
<xS:annotation>
<xs:documentation># il X 115 J2.</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="1D2" type="xs:string">
<xS:annotation>
<xs:documentation># | . 25 i 1415 /5 </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="Constructioninfo">
<xs:annotation>
<xs:documentation>_T_F£{5 /& </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence>
<xs:element ref="Compilelnfo™ minOccurs="0"/>
<xs:element ref="AttrInfo" minOccurs="0" maxOccurs="unbounded"/>
<xs:element ref="Addilnfo" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="Compilelnfo">
<xs:annotation>
<xs:documentation>% {5 &£ </xs:documentation>
</xs:annotation>
<xs:complexType>



<xs:attribute name="Designer" type="xs:string">
<xS:annotation>
<xs:documentation>¥ i1 5./ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="BuildUnit" type="xs:string">
<xS:annotation>
<xs:documentation>% ¥ 5./ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Contractor" type="xs:string">
<xs:annotation>
<xs:documentation>7K 3 5.4\ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompileCompany" type="xs:string" use="required">
<xs:annotation>
<xs:documentation> 1] B 7 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompileCertNo" type="xs:string">
<xs:annotation>
<xs:documentation>% ffill L7 B% 5T 1IE T4 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompileCompanyAuthorizer" type="xs:string">
<xS:annotation>
<xs:documentation>Z il B A7 7% 8 AR R N BB AN
</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Compiler" type="xs:string">
<xs:annotation>
<xs:documentation>%s ] A\ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompilerCertNo" type="xs:string">
<xs:annotation>
<xs:documentation>% il \ % #%1iE 154 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="CompileDate" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>% ffil| i} [A] </xs:documentation>
</xs:annotation>



</xs:attribute>
<xs:attribute name="Examiner" type="xs:string">
<xs:annotation>
<xs:documentation># 1% A </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ExaminerCertNo" type="xs:string">
<xs:annotation>
<xs:documentation> 8 1% N B AL 154 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ExamineDate" type="xs:string">
<xS:annotation>
<xs:documentation> 8 % i} [A] </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Approver" type="xs:string">
<xS:annotation>
<xs:documentation># 5& A\ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ApproverCertNo" type="xs:string">
<xS:annotation>
<xs:documentation> & & \ B A& IE 154 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="ApproverDate" type="xs:string">
<xs:annotation>
<xs:documentation> & I} ] </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="AttrInfo">
<xs:annotation>
<xs:documentation> T F£4F1iE {5 & </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence minOccurs="0">
<xs:element ref="AttrInfoltem" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="AttrInfoltem">
<xs:annotation>



<xs:documentation> T F24FE (5 2. B 4fi</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence minOccurs="0">
<xs:element ref="AttrInfoltem" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xS:annotation>
<xs:documentation>4% #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Value" type="xs:string">
<xs:annotation>
<xs:documentation> 4 ¥ </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xs:annotation>
<xs:documentation>1X, 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>+£%y3:</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="Addilnfo">
<xS:annotation>
<xs:documentation>%k 7815 & </xs:documentation>
</xs:annotation>
<xs:.complexType>
<xs:sequence minOccurs="0">
<xs:element ref="Addilnfoltem" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="Addilnfoltem">
<xs:annotation>
<xs:documentation>*h 7815 & Bl 4fi</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence minOccurs="0">
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<xs:element ref="Addilnfoltem" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>#4 #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Value" type="xs:string">
<xs:annotation>
<xs:documentation> P %¥</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xS:annotation>
<xs:documentation>fY, 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xS:annotation>
<xs:documentation>#4&y¥ </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="MainCostIndex">
<xS:annotation>
<xs:documentation> = % #% H 45 #5.</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence minOccurs="0">
<xs:element ref="SummaryOfCostindex" minOccurs="0"/>
<xs:element ref="SummaryOfBasicCostindex" minOccurs="0"/>
</xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="SummaryOfCostindex">
<xs:annotation>
<xs:documentation>jI_i %% F & ¥r </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:attribute name="Number" type="xs:string">
<xs:annotation>
<xs:documentation>Jii H %5 </xs:documentation>
</xs:annotation>
</xs:attribute>



<xs:attribute name="Name" type="xs:string" use="required">
<xS:annotation>
<xs:documentation> %% A 4 #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xS:annotation>
<xs:documentation>: % (7t )</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="TechnicalAndEconomiclndex" type="xs:double">
<xs:annotation>
<xs:documentation>#; K& 5 fakr (Jt) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xs:annotation>
<xs:documentation> /7 = #% %% LL 45 (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>%% FH 1t 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xS:annotation>
<xs:documentation>#4y¥ </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="SummaryOfBasicCostindex">
<xs:annotation>
<xs:documentation>4i1-#% FH #& #x </xs:documentation>
</xs:annotation>
<xs:.complexType>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation> %% F 44 #x </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
<xs:documentation>: % (7t )</xs:documentation>
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</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomicindex" type="xs:double">
<xS:annotation>
<xs:documentation>#; R& 5 fakr (Ju) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xS:annotation>
<xs:documentation> /5 = #% %% LE 45 (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>%% FH 1t 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>£y¥</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="ConstructionSummarylndex">
<xs:annotation>
<xs:documentation>%% FH 2 i 45 5 </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:.sequence>
<xs:element ref="ConstructionCostIndex"/>
</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation> %% FH 44 #r</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
<xs:documentation>4:%Ji(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="TechnicalAndEconomiclndex" type="xs:double">
<xs:annotation>
<xs:documentation>#; K& 5 akr (Ju) </xs:documentation>
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</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xS:annotation>
<xs:documentation> /5 = #% %% LE 4§ (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xS:annotation>
<xs:documentation> %% F X 5-</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>£y¥</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="ConstructionCostIndex">
<xs:annotation>
<xs:documentation>_T_F% %% F 45 kr</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:.sequence>
<xs:element ref="MainCostIndex"/>
<xs:element ref="ProjectinstallationWorkCostIndex"/>
</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>%% F 44 #x </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
<xs:documentation>4x#i(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomiclndex" type="xs:double">
<xs:annotation>

<xs:documentation>F; R ZFFfabr (JT) </xs:documentation>

</xs:annotation>

</xs:attribute>

<xs:attribute name="Ratios" type="xs:double">
<xs:annotation>
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<xs:documentation> /5 = #% %% LE 45 (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xS:annotation>
<xs:documentation> %% A X 5-</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>+£%yF:</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="ProjectInstallationWorkCostIndex">
<xs:annotation>
<xs:documentation> 2 3% 2 3 T. 7% 2 F6 Fr</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence>
<xs:element ref="MainCostIndex"/>
<xs:element ref="SectionalWorksIndex" maxOccurs="unbounded"/>
<xs:element ref="LabourMaterialsEquipmentsindex" minOccurs="0"
maxOccurs="unbounded"/>

</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>%% i 44 #r</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
<xs:documentation>4z#i(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomiclndex" type="xs:double">
<xs:annotation>
<xs:documentation>H; RZ&FFHabr (Ju) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xs:annotation>
<xs:documentation> /7 & #% %% LL 4§ (%) </xs:documentation>
</xs:annotation>
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</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xs:annotation>
<xs:documentation> % A X 5-</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>+£%yF </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="SectionalWorksIndex">
<xS:annotation>
<xs:documentation> 5.1 T £ 45 ¥r </xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:sequence maxOccurs="unbounded">
<xs:element ref="MainCostIndex"/>
<xs:element ref="SectionalWorksIndex" minOccurs="0"
maxOccurs="unbounded"/>

<xs:element ref="UnitWorksIndex" maxOccurs="unbounded"/>

</xs:sequence>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>%% F 4 #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
<xs:documentation>4%Ji(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Scale" type="xs:double">
<xs:annotation>
<xs:documentation>%E ¥ #i #5</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Unit" type="xs:string">
<xs:annotation>

<xs:documentation>%# 15 i #.47 </xs:documentation>

</xs:annotation>
</xs:attribute>

<xs:attribute name="TechnicalAndEconomiclndex" type="xs:double">

<Xs:annotation>
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<xs:documentation>#; R& 5 fakr (Ju) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xS:annotation>
<xs:documentation> /5 & #% %% LE 4§ (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xs:annotation>
<xs:documentation> %% FH 1t 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>4£%yF: </xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="LabourMaterialsEquipmentsindex">
<xs:annotation>
<xs:documentation> 3= £ Tkl H &5 hr</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:attribute name="Number" type="xs:string">
<xS:annotation>
<xs:documentation>%s i </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>44 ¥R </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Unit" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>H.{; </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Quantity" type="xs:double">
<xs:annotation>
<xs:documentation>#§ = </xs:documentation>
</xs:annotation>
</xs:attribute>
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<xs:attribute name="UnitQuantities" type="xs:double">
<xS:annotation>
<xs:documentation>yH ¥E & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xS:annotation>
<xs:documentation>£%yE</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="UnitWorksIndex">
<xs:annotation>
<xs:documentation> .47 T2 45 #r</xs:documentation>
</xs:annotation>
<xs:complexType>
<Xs:sequence>
<xs:element ref="Constructioninfo"/>
<xs:element ref="MainCostIndex"/>
<xs:element ref="Divisional AndElementalWorkslIndex"/>
<xs:element ref="PreliminariesIndex"/>
<xs:element ref="LabourMaterialsEquipmentsindex" minOccurs="0"
maxOccurs="unbounded"/>
</xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="Divisional AndElementalWorksIndex'>
<xs:annotation>
<xs:documentation>4}#f 43 1l T2 48 #r</xs:documentation>
</xs:annotation>
<xs:.complexType>
<xs:attribute name="Number" type="xs:string">
<xs:annotation>
<xs:documentation>4fi</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Name" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>Jji H 44 #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Attr" type="xs:string">
<xs:annotation>
<xs:documentation>Jii H #1iE</xs:documentation>
</xs:annotation>
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</xs:attribute>
<xs:attribute name="Content" type="xs:string">
<xs:annotation>
<xs:documentation>_T.{f P %5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Unit" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>H.{i </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Quantity" type="xs:double">
<xS:annotation>
<xs:documentation>_T_F% & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="HundredUnitQuantities" type="xs:double">
<xS:annotation>
<xs:documentation>1007% R 547 FH & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xS:annotation>
<xs:documentation>4z#i(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomiclndex" type="xs:double">
<xs:annotation>
<xs:documentation>F; R& G fabr (JT) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xs:annotation>
<xs:documentation> 5 i& f/ L 451 (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xs:annotation>
<xs:documentation> %% F 1t 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>+£%yF </xs:documentation>
</xs:annotation>
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</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="PreliminariesIndex">
<xs:annotation>
<xs:documentation>+4 jiti i H $5&¥r</xs:documentation>
</xs:annotation>
<xs:complexType>
<xs:attribute name="Number" type="xs:string">
<xs:annotation>
<xs:documentation>%wfid</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Name" type="xs:string" use="required">
<xS:annotation>
<xs:documentation>Jii H 44 #x</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Attr" type="xs:string">
<xS:annotation>
<xs:documentation>Jii H #51iE </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Content" type="xs:string">
<xS:annotation>
<xs:documentation>_T.{F P % </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Unit" type="xs:string" use="required">
<xs:annotation>
<xs:documentation>#.{i </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Quantity" type="xs:double">
<xs:annotation>
<xs:documentation>_L. £ & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="HundredUnitQuantities" type="xs:double">
<xs:annotation>
<xs:documentation>1007%3 ¥ % # 47 FH & </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Total" type="xs:double">
<xs:annotation>
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<xs:documentation>4:#i(7t)</xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Technical AndEconomicindex" type="xs:double">
<xS:annotation>
<xs:documentation>#; R& 5 fakr (Ju) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Ratios" type="xs:double">
<xs:annotation>
<xs:documentation> 5 i%& 1/ L 5 (%) </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Code" type="xs:string">
<xs:annotation>
<xs:documentation>%% FH 1t 5 </xs:documentation>
</xs:annotation>
</xs:attribute>
<xs:attribute name="Remark" type="xs:string">
<xs:annotation>
<xs:documentation>£y¥</xs:documentation>
</xs:annotation>
</xs:attribute>
</xs:complexType>
</xs:element>
</xs:schema>
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